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Tueuii 1

1. Awuali A ={1,23}, B={456},C ={24,6},D = {1,3,5}
AN
1. AXB
2. AXC
3. AXD
4. BXD
5. BxC
6. DxC
7. (Ax(BnNC)
8. (AxXB)Nn(C xD)
9. AnC)xXx(BNnD)
10. (BNC)x D

2. ainual A ={1,3,5}, B={2,4},C ={x,y}
M

AXB

AXC

B XA

B XxC

CXB

AXA

CxC

B X B
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Tuuni 2
1. Amnual n(d) =20, n(B) =28, n(C) =16,uagz n(BNC) =9

AINN

. n(A X B)

. n(B X C)
.n(B X A)
.NAX(BNC)
.n(BNC)XC

U b~ WN -

2. Anualn n(4) =10, n(B) =6, n(C) =13,uaz n(BNC) =5
WU

. n(A X B)

. n(B X ()

.n(A X C)

.n(Ax (BUC())

.n(A % (BNC))

.n(Ax (B —0))

(A% (C—B))

NOUPhANWN R



Tueruin 3
AV TALUULALLTUIUDIANUTUWUS

1. ={(1,5),(2,6),(3,9)}

2.7r={(x,y) ENXN/x+y=6}

3.1r={(x,y) ENXN/y=3x—2, x<5}

4. r={(x,y) ENXN/2x+y=6, -2<x<1}
5.r={(x,y) ENXZ/3x—y=2, -3<x<2}



Tuvnui 4
WM TAULAZITUTNaIA NN NN US a1
1. Awwual 4 ={1,3,5,7}, B ={-1,0,1,2,3}

l.r={(x,y) eAXA/y=2x+1}
2.7r={(x,y) EBXB/x+y=2}
3.1r={(x,y) EAXB/x<y+1}
4. r={(x,y) EBXA/y—x=5}

2. Amnuali A4 =1{24,6,8}, B={-1,0,1,2,3}

l.r={(x,y) €EAXxA/x+y=9}
2.7r={(x,y) EBXB/2x —y< -1}
3.1r={(x,y) EAXB/x—y =6}
4. r={(x,y) EBxA/x*+y =4}



Tu91uii 5

WM TAULAZITUTNaIA NN NN US a1

1.r={(x,y) ERXR/szx+1}

2.r={(x,y) ERxR/y=§ii;}

3.r={(x,y) ERxR/y=4x_1}

2x+5

4.r ={(x,y) ERXR/y=+5-3x }

5.r={(x,y) ERxR/y=\/%}
6. r={(x,y) ERXR/y=|x]—3}
7.1r={(x,y) ERXR/|x+3|+|y—4|=9 }




Tu91uil 6

1. v dunassuasamnuFuNuslunsazdanaludl

1) r ={(-35),(-2,7),(-1,9)}

2) r={(1,a),(2,b),(3,¢c),(4,d)}
3) r ={(x,¥)ly = 2x + 9}

3 r={Cy)|xy—x+3y+2 =0}
5) r = {(x,y)|y = V2x + 3}

2. adNansTIWauasIAINFNNUSURINT W
1) r= {(_111)1 (_212)' (_3,3), (_4'4)}
2) r={(x,y) ERXR|y =2x — 4}
3) \

4)




Tugui 7
W D, way R, a9 r~Lifladiviua r dosia’ludl
1) »r ={(3,5),(7,9),(11,13)}
2) r ={(x,y) € R XR|y =\/m}
3 r={enly =)

9 r={yy =12

1+|x]|




Tu9uti 8

1. Aualu £ = {(1,2),(3,4),(5,6)} 29n1 f(1),f(3),f(5)

2. AUl f(x) = 3 — x2 9UIAIUAY

1) f(D

2) f(10)

3) £(0)

4) f(a)

5 f(b+1)

6) f(—4) +2f(3)
5f(—1)—4f(0)

7) f(10)

2x% , x< -1
3.amual f(x) =] —3x ,-1<x<1
5x+1 ,x =1
agmna luusiazasa‘lyil

1) f(3)

2) f(-1)

3) f(V2)

4) f(5) - f(=2)

5) 2f(1) —4f(=3)



Tuauii 9
AMUATW F(x +2) = 2x +3 uaz g(2x — 1) = 4x2 — 4x 9mAsaludl

1. f(2)

2. 9(=2)
3. f(g(5))
4. g(f(-1))

10



Tuduii 10

. Anualu £ = {(1,2),(2,3), (3,4), (4,5} waz g ={(2,1),(1,-3),(3,7), (4,2)}
TN

1)f+g

2) f—g

3)feg

4 f+g

. ANUATA f = {(=5,-9),(=3,-2),(1,8), (2,0)}
g =1{(—=4,5),(-3,8),(1,0), (2,4)}
h = {(-5,—12), (—4,—10), (1,—6), (2,9)}
ENNZ R
1) f+g
2)f—g
3)g—nh
4)g~+h
5) hof
6) f+g)+h
7)g-h-f
8 h—(—-9)

11



lugui 11

1. Awmuald f(x) = x? — 7x

gx) =x-9
WU
1) (f + 9)(x)
2) (f —9)x)
3) (feg)(x)
4) (f + 9)(x)
2
2. Awmuali f(x) == ToxTet
x—3
x?—5x+4
g(x) - x—3
WU
1) (g + 1))
2) (9N

3) (g° Hx)
4) (9 + )

12



Tudui 12

1. dAnual £ = {(1,2),(2,4), (3,9),(4,-2), (5 —1)}
g = {(_1,2), (_2,3), (_3,4), (2,10), (9113)}

NN

fog

gof

fof

goyg

flg(=1))

f(g9(=3))

g(f()

g(f(3))
9. g(f (D)
10.

2. fdnuali f(x) =x+3

glx)=2x—-1

NSO AR WNE

NN

1) (fog)(x)
2) (gof)(x)
3) (fofH)(x)
4) (gog)(x)

3. dmuali f(x) =x—10
glx) =2x+3
EINAZ!

1) (fog)(5)
2) (gof)(—1)
3) (fof)(2)
4) (gog)(—3)



